@

CO
grinders

Parts for
AutoGrind
Digital

Image Item no. Part description

g 40310320 Allen screw M3x20
’i.’; 40310306 Allen screw M3x6
WJ 40310620 Allen screw M6x14
'# 75550012 Axle module AutoGrind
!5 E 75560012 Axle module AutoGrind V3

inelco-grinders.com 1/6


https://inelco-grinders.com/

- -8

75551012

75561012

44550020

44550011

75550013

44550010

44491215

75550010

75550006

75550030

44550018

Axle module AutoGrind-S

Axle module AutoGrind-S V3

Bearing AutoGrind

Blocking button

Blocking module for AutoGrind

Blocking unit

Bottle holder

Control cable

Controle box AutoGrind/Digital

Drain bottle set

Drain ring

inelco-grinders.com

2/6



75550035

75550023

75550020

75560020

75560120

75550120

75551020

75561020

75551025

74300014

75550005

Drain set for AutoGrind

Electrode holder for AutoGrind (for
75550001)

Electrode holder for AutoGrind (for
75550005)

Electrode holder for AutoGrind Digital V3

Electrode holder for AutoGrind-S @1,0-4,0
mm V3

Electrode holder for AutoGrind-S, @ 0,8 —
4,0 mm

Electrode holder for AutoGrind-S, @ 4,8 —
8,0 mm

Electrode holder for AutoGrind-S, @ 4,8 —
8,0 mm V3

Electrode holder XL for AutoGrind-S, @
48 —-8,0mm

Grinding cable male C14-Schuko female

Grinding module for Auto-Grind V2

inelco-grinders.com

3/6



75551005

75560005

75561005

44550000

74250014

44550021

75550011

44550002

44470213

44470316

Grinding module for Auto-Grind-S

Grinding module for AutoGrind Digital V3

Grinding Module for AutoGrind-S V3

House AutoGrind

Mains cable 3x1,0

Motor Bearing AutoGrind

Motor module for AutoGrind

Motorcap

O-ring @13%1.5 mm

O-ring 16,5 x 1,5

inelco-grinders.com

4/6



El-- = 17110035 On/off button AutoGrind

44551300 Packing box AutoGrind
44492510 Pipe fitting
- 74491429 Plug Foil Key female
M 40110511 Screw M4x12

W\j“ 44550028 Spring AutoGrind
% 44550022 Stretching screw

44551022 Stretching screw UT-S

44550017 Teflon disc

m" 44550019 Tightening screw with drain

O ﬂ O 75550019 Tightening screw with drain incl. packing
ring

inelco-grinders.com



44550001 Top grinding module AutoGrind

< 74673520 Wire 1,5x200 yellow/green

G

C o Klokkestgbervej 4 Tel.: (+45) 96 50 62 33
9490 Pandrup info@inelco-grinders.com

gl"nders Denmark

inelco-grinders.com 6/6


https://inelco-grinders.com/
mailto:info@inelco-grinders.com

	Inelco Grinders
	Parts for AutoGrind Digital


